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QUESTION 1

What is the value in after substring upon completion of the following code? 

A. world! 

B. rld! 

C. h hello world! 

D.  

Correct Answer: B 

 

QUESTION 2

The Error list shows all of the following but: A. Items with errors 

B. Errors and warnings 

C. Details about the warnings 

D. Error Codes 

Correct Answer: D 

 

QUESTION 3

CLAD Practice Test | CLAD Study Guide | CLAD Exam Questions                                2 / 4

https://www.passapply.com/clad.html
https://www.passapply.com/clad.html
https://www.passapply.com/clad.html


https://www.passapply.com/clad.html
2024 Latest passapply CLAD PDF and VCE dumps Download

What value will be displayed in Concatenated Array indicator when the VI completes execution? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 4
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Which of the following statements regarding the index of Arrays are NOT true? 

A. The index is used to access a particular element of an Array. 

B. The index ranges from 1 to n. 

C. A 2-D Array has both a column index and a row index. 

D. The index ranges from 0 to n-1. 

Correct Answer: B 

 

QUESTION 5

The following figure is an example of which common type of VI architecture? 

A. Multiple Case Structure VI 

B. General VI 

C. State Machine VI 

D. Parallel Loop VI 

Correct Answer: C 
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